

الف) $\frac{x^p + 1 - 2x - x^p}{x^p - x} = \frac{1 - 2x}{x^p - x} \geq 0 \rightarrow$ $\begin{array}{c} 0 & \frac{1}{p} & 1 \\ + & \frac{1}{p} & + \\ - & \frac{1}{p} & - \end{array}$ $\boxed{(-\infty, 0) \cup [\frac{1}{p}, 1]}$ 1.

ب) $\frac{x - 2x - 2}{x^p + x} = \frac{-x - 2}{x^p + x} \geq 0 \rightarrow$ $\boxed{\mathbb{R} - \{-1, 0, -\frac{1}{p}, -2, 1\}}$

$\frac{2x + 9 + x - 1}{x^p + 1x - 2} = \frac{3x + 8}{x^p + x - 2} \geq 0 \rightarrow$ $\boxed{-\frac{8}{3}, 1, -2}$

2. $\left(\left(\frac{1}{p}\right)^x - 9\right)(32 - 4^x) \geq 0 \rightarrow x = \frac{\log 9}{\log 4}, -2$ $\begin{array}{c} -2 & \frac{\log 9}{\log 4} \\ + & - \\ - & + \end{array}$

$\boxed{(-\infty, -2] \cup [\frac{\log 9}{\log 4}, +\infty)}$

ب) $x - 1 \geq 0 \rightarrow x \geq 1$

$\sqrt{y+1} = \sqrt[3]{x-1} \rightarrow \sqrt[3]{x-1} \geq 0 \rightarrow \sqrt[3]{x-1} \geq 1 \rightarrow x-1 \geq 1 \rightarrow x \geq 2$

بین این دو حالت
شبهه $\boxed{[1, 2]}$

$$x^p - x - p > 0 \rightarrow (x - p)(x + 1) > 0 \rightarrow \begin{array}{c} -1 \quad p \\ + \quad \phi \quad - \quad \phi \quad + \end{array} \quad .3$$

$$x^p - 1 > 0 \rightarrow \begin{array}{c} -1 \quad 1 \\ + \quad \phi \quad - \quad \phi \quad + \end{array} \quad (-\infty, -1) \cup (p, +\infty)$$

$$\sqrt{x^p - 1} + 1 \neq 0 \rightarrow \sqrt{x^p - 1} \neq -1 \quad \times \text{ممنوع}$$

$$x^p + ax - x^p > 0 \xrightarrow{x=-p} p - pa - p = 0 \rightarrow pa - 1 = 0 \rightarrow pa = 1 \rightarrow a = \frac{1}{p} \quad .4$$

$$-x^p - \frac{1}{p}x + p > 0 \rightarrow \Delta = +\frac{1}{p} - \frac{p(p \times -1)}{+1p} > 0$$

$$-x^p - \frac{1}{p}x + p = 0 \rightarrow \Delta = \frac{p^2}{p} \rightarrow \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-\frac{1}{p} \pm \sqrt{\frac{1}{p^2}}}{-\frac{1}{p}} = \frac{-\frac{1}{p} \pm \frac{1}{p}}{-\frac{1}{p}} = \frac{p}{p}$$

$$a + b = -\frac{1}{p} + \frac{p}{p} = 1$$

$$x > 1 \rightarrow \sqrt{px - p - x} \rightarrow \sqrt{px - p} \rightarrow x > 1$$

$$x < 1 \rightarrow \sqrt{px + p} - x \rightarrow x > -p$$

$$\sqrt{p(x)} - x \rightarrow f(x) > x \rightarrow x > -p \quad [-p, +\infty) \quad .5$$

$$p(a+1)(V) = pa - p + a \rightarrow (pa + p) = pa - p \rightarrow 1pa + 1p = pa - p \rightarrow 1 \cdot a = 1 \quad .6$$

$$\left(\sqrt{x} + \frac{1}{\sqrt{x}}\right)^p \rightarrow \left(\sqrt{p-\sqrt{p}} + \frac{1}{\sqrt{p-\sqrt{p}}}\right)^p + \left(\sqrt{p+\sqrt{p}} + \frac{1}{\sqrt{p+\sqrt{p}}}\right)^p$$

$$\frac{a}{\Delta} = -\frac{9}{\Delta} \quad .7$$

$$\sqrt{p-\sqrt{p}} + \frac{1}{\sqrt{p-\sqrt{p}}} + p = \sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}} + p = \sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}} + p \quad (1)$$

$$\sqrt{p+\sqrt{p}} + \sqrt{p-\sqrt{p}} + p \quad (2) \quad (1) + (2) = p(\sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}}) + p = p + p\sqrt{p}$$

$$\sqrt{p-\sqrt{p}} + \sqrt{p+\sqrt{p}} = A \rightarrow A^p = p + p\sqrt{p} \rightarrow A = \sqrt[p]{p + p\sqrt{p}}$$

$$Pf(x) - Pf(-x) = kx^p - x \rightarrow Pf(x) - Pf(-x) = 1x^p - kx \quad .8$$

$$Pf(-x) - Pf(x) = kx^p + x \rightarrow Pf(x) - Pf(-x) = 1x^p + kx \xrightarrow{\text{eq.}} -df(x) = x^p + x$$

$$\boxed{-kx^p - \frac{x}{\omega} = f(x)}$$

$$Pf(.) = \omega m - 1 \rightarrow f(.) = \frac{\omega m - 1}{p}$$

$$x = -p \rightarrow Pf(.) = 1q + pm + \omega m - 1 \rightarrow \frac{1\omega + \omega m}{q} = f(.) \quad \left\{ \begin{array}{l} \frac{\omega m - 1}{p} = \frac{1\omega + \omega m}{q} \\ 1\omega + \omega m = qm - \omega \end{array} \right. \quad .9$$

$$Pf(.) = \frac{pV}{p} = 1 \rightarrow f(.) = \frac{p\omega}{k}$$

$$\frac{q}{p} = m \leftarrow 1\omega = km$$

$$ax + b + \frac{a}{x} + b = \frac{\omega x^p - 1px + \omega}{x} \rightarrow -a + b - a + b = \frac{\omega + 1p + \omega}{-1} \rightarrow -pa + pb = -1\omega \quad .10$$

$$b - a = -q \quad (1)$$

$$x = 1 \rightarrow a + b + a + b = \frac{\omega - 1p + \omega}{1} \rightarrow pa + pb = -q \rightarrow a + b = -\frac{\omega}{p} \quad (2)$$

$$(1), (2) \xrightarrow{\text{eq.}} pb = -1p \rightarrow \boxed{b = -q} \quad \boxed{a = p}$$

$$x = -1 \rightarrow -\omega - q = \boxed{-q}$$

s.a.m